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Monthly averaged wind velocity by MF radar at Tromsoe for July 2014
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Monthly averaged wind velocity by MF radar at Tromsoe for July 2014

North

mean sigma = 16.577

o
o
T

© T
IN
®
~
>
3
o

mean sigma = 12.304

o
o

o

© [T
I
©
N
>

20

o

mean sigma = 10.786

[&)]
o O

© [T
IS
©
0
>

20

o

mean sigma = 9.663

(42
o O

)
NN FRRTE SR P

© [rrrTTTTTT
N
o]
N
3

20

o

mean sigma = 7.851

o
o

0Em o
0 4 8 12 16 20 0

o
o

0 4 8 12 16 20 0

o
o

0}“’WWWWW$WW~WMW«—”-HE
0 4 8 12 16 20 0

[S =}
[=2R=}
T
I

o
o

o & o o
S o S S
T

a o
o O

o &
ISIR=]

100
50

a o
o O

o &
ISHR=)

a o
o O

o &
ISH=)

a o
o O

o &
S o

East
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